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QUESTION 1

Generic Cost Code Shells

A. define the Shell hierarchy

B. define the Cost Breakdown Structure
C. support Cost Manager functionality
D. support configurable modules

Correct Answer: D

QUESTION 2

View the Exhibit.
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You want to set up a BusinessProcess. You navigate to this screen. However, you do not see the Business Process that
you want to set up.

A. The Business Process does not exist.
B. The Business Process has not been activated.

C. The Business Process does not have a beginning or an end step.
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D. The Business Process does not have users assigned.

Correct Answer: D

QUESTION 3

As a Sponsoring Company, you want to remove a Partner Companydue to its poor performance. When the Partner
Company is removed, you also want to ensure that the Parther Company users are inactivated.

What happens if you remove a Partner Company from a Sponsoring Company?
A. The Partner Company can never be re-addedto the Sponsoring Company.

B. The Partner Company users are inactivated.

C. The Partner Company users continue to access the Sponsoring Company.
D. All users remain active.

Correct Answer: B

QUESTION 4

You have completed and tested designs in the staging environment. Your project team feels that the design is ready to
be brought into the production environment.

Identify the first step in this process.

A. Create the Design Bundle in staging Environment.
B. Export the design to a local directory.

C. Delete staging data in production environment.

D. Delete user data in staging environment.

Correct Answer: B

QUESTION 5

Identify the process that makes a completed design available for testing purpose.
A. Import

B. Design Bundle

C. Tag

D. Deploy

Correct Answer: B

170-439 Practice Test | 1Z0-439 Exam Questions | 1Z20-439 Braindumps 3/4


https://www.geekcert.com/1z0-439.html
https://www.geekcert.com/1z0-439.html
https://www.geekcert.com/1z0-439.html

VCE & PDF https://lwww.geekcert.com/1z0-439.html
2024 Latest geekcert 120-439 PDF and VCE dumps Download

GeekCert.com

170-439 Practice Test 170-439 Exam Questions 170-439 Braindumps

170-439 Practice Test | 120-439 Exam Questions | 120-439 Braindumps 4/4


https://www.geekcert.com/1z0-439.html
https://www.geekcert.com/1z0-439.html
https://www.geekcert.com/1z0-439.html
http://www.tcpdf.org
https://www.geekcert.com/1z0-439.html
https://www.geekcert.com/1z0-439.html
https://www.geekcert.com/1z0-439.html

